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� ����������� �����	��� ����	����	
 �����	���� 	
� !� ��������
���� 	��� ������	"�# ����	���$
	�� ����� �	�������% 2 − α − γ = ν !��� νd − γ = ν # � β = −2α. &�������	
 �����		
� 
	���	��
��������	
� ����������� �	������% α = −2/11, η = 0, β = 4/11, ν = 8/11, γ = 16/11 � δ = 5.
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��������� ��� ����� !"#���
$ ����%�&� ���#�%�&!'#$ ��# ��#�#�����$ ���"����("## xc

#������)*'�$ �(� +(�
� !� !���! ,��-���#�����$ -�&� .* ��-���(�)��
% +(���
% ����%�/
&�� 0
� �1� ,&� ����%�& �� �&��$ +(�
 � &�),�$ 2#�-����#� �#--���##3 ���#�%�&#� ��# ��#�#/
�����$ ��-���(�)�� Tc � �(��#-��� ���) ��(! 2��# �#��#% ��-���(�)�(%3 �����(��(! �(-(,/
�#�������. M(T ) ��# ���
4��## ��-���(�)�
 #����(�� ��# ��#�#�����$ ��-���(�)�� �(�
M(T ) ∝ |T − Tc|β, ,&� β 5 ��#�#����#$ #�&���� 6 &�),�$ ������
� �� # -(,�#��
$ -�-���
�( (��- ���. μ # #% ���"����("#! �(��( x, �� M(x) ∝ (μ/v0)P (x), ,&� v0 5 �789�- ��#/
%�&!'#$�! �( (��-� ( P (x) 5 ����!�����. ��,�� ��� � )�($�� �
7�(��
$ (��- ��#�(& �:#�
�����������	 �
����
	� �(,�#��
� -�-���
 (��-�� � ����������� �
����
� ��#���#���(�

� �&��- �(��(� ��## 7 (,�&(�! -(,�#���-) ��(#-�&�$���#* -�:&) ����&�#-# (��-(-#� ;��/
 �9�-����. CV �7 #�# Tc �(�:� �
�(:(���! ����� ��#�#����#$ #�&���< CV ∝ |T − Tc|−α, ,&�
α 5 ��#�#����#$ #�&��� ��� �9�-����# 0�� �� �1�

� ����� !"## P (x) 5 =�� ����!�����. ��,�� ��� � )�($�� �
7�(��
$ )�� 2��!�.3 ��49���#
��#�(& �:#� �����������	 �
����
	 0
� �� �� >1 # )-��.4(���! &� �) ! ��# ��#�#�����$ ���/
"����("## xc �(� P (x) ∝ |x−xc|β, �� ���. ���"����("#! #������)*'�$ �(� +(�
 x (�( �,#�/
�( ��-���(�)�� T � ��-���(�)���- +(����- ����%�&�� ( ��#�#����#$ #�&��� β )�#����( ��
& ! ��-���(�)���,� # ,��-���#�����,� +(���
% ����%�&��� ;(�)* (�( �,#* -�:�� �������#
& ! -(,�#���$ �����##-�#����# ��'����( χ ∝ |T−Tc|−γ # ���&��,� �(�-��( ������
% � (���/
��� 2?@AB CDEFG@H FIJ@3 S(x) ∝ |x−xc|−γ , �(&#)�( ����� !"## r ∝ |T−Tc|−ν 2��% :� -(,�#��
%
(��-��3 #  #��$��,� �(�-��( ����� !"#����$ ��49���# L ∝ |x − xc|−ν # �� &� K#�����( )�#/
����( .����# ��#�#����#% #�&����� α, β, γ, ν # &�),#% �� !� !���! ����,� &��(�(���$� ��
��#�!�� ��#�(�. 0
� �� �1� ��� ��#�#����#� #�&���
 & ! ���% �(&(� 2� ����� !"## # ��-���(/
�)��
% +(���
% ����%�&(%3 �&#�(���
 & ! �&��$ # ��$ :� �(�-������# ������(����(�

��#�#����#� #�&���
 # ��!�. -�:&) �#-# ���&��
 � 0�1L0M1 # �7�(�)*� �(� �(�
�(�-
$
��	���������
���� ����
��� 0�� �1 & ! �(�-������# ������(����( d :

α = 2 − νd; νd = 2β + γ; η = 2 − γ/ν; δ = 1 + γ/β, 2	�
3

,&� #�&���
 δ # η ���&!��! & ! ��-���(�)��
% +(���
% ����%�&�� �(� 0M1

P (τ = 0, h) ∝ h1/δ # G(Tc, r) ∝ r−d+2−η 2	��3

�&��. τ = T − Tc, h 5 7���(�-����� �� �� G(Tc, r) 5 ����� !"#���(! +)��"#!�
�� ���
��% ������4��#$ 2	�
3 � �&)��� ��� & ! �� )���#! ��(���#$ ���% ���(�(�� �$ &�/

��(����� ��(�. ��� ���(�#�#-
% #�&���( 2�(��#-�� η # ν � �� �� η # δ 3 # # �&#� #�&���
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	� �
�� �

# ����� -�:&) �#-# 2# # &�� �����3� � &(���$ �(7��� -
 7)&�- �(�
�(�. )� ���� ����
�����

��
���� ��
���� 2-�:�� ��(�(�. P�&�����(�(�� .�
$Q ���$ #�,3� �� # � 2	�
3 7)&�� &�7(� �/
�( �'9� ���� ����� -�:&) #�&���(-#� ��,&( & ! �� )���#! ���% ���(�(�� �$ &���(����� ��(�.
 #4. �&#� #�&����

�� # � ������4��#!- 2	�
3 7)&)� �� )���
 �'9� &�� ��!�#� �� �#���-( ��(���#��! �(-��)��$
# ���(�(�� #  �,�� �
�#� !*��!� R��� � )�($ -
 7)&�- �(�
�(�. )� ���� ����
����� �	
�����

��
���� 2# # �'9� ������ �	
������
�����3�
�� -��,��#� ���
% �(7�� �  #���(�)��� ����!'9���
% �(%�:&��#* �#� ���
% ��(���#$

��#�#����#% #�&����� ��-���(�)��
% +(���
% ����%�&��� ��-��#- -���& �����-/,�)�� 2� ��/
( .��- ������(����� # � �7�(���- ������(����� # # ε /�(� �:��#�3� �� )�#�4#$ �(��#�#� ��
,#�����
 ��&�7#! �(&(���( # �# ���( 20N1� 0�1 ( �(�:� 0�1 # 0�13� O����-( #�("#! &(9�� %���4��
��, (�#� � =�����#-����- & ! 7� .4#% #�&����� 2�(��#-�� γ # δ), �� � �%� ��, (�)���! � -(/
 
-# #�&���(-# 2�(��#-�� α, ν # β). S�(�( ��.� ��� -���& �����-/,�)��
 � ����� !"##
�7 (&(�� ���.���
- ��&���(���-5 ����7�(���(�#� �����-( #�("## �� ��%�(�!�� ��!�����.
-�:&) )� (-#< &�( )� (� �����
� ��#�(& �:( # &� ����7�(���(�#! �&��-) � (����)� -�,)�
��#�(& �:(�. ��� � ����7�(���(�#! � �(� #��
- � (����(-� ��),#-# � ��(-# �(� #��
�
�%�-
 �����-( #�("## -�,)� ��#��&#�. � �(� #��
- ��(���#!- ��#�#����#% #�&����� 0�1�

�(4�$ "� .* � &(���$ �(7��� 7
 � )��(��� ��#� ��	� &��� �#�� .�
% ������4��#$
� &�)%���(�(�� .��-) ���$ #�,) 2
3� � T 
 � �(-�(% �(��� �� )����
% �(-# 20
	� 

13 ���/
�� !"#���
% ���$��� 2����, ������(�#!� ����!�����. ������(�#! # &��3 &�)%+(���$ ������$
�)7#�����$ ��49���# �� )���� ��
��� ������4��#� -�:&) #�&���(-#� ������� ����� # � ����/
&� #�. #�&���
 η # δ. � T � �(��-�����( ����� !"#���(! �(&(�( ��9��&
% �����&!'#% �+���
�(%�&!'#%�! � %(��#�����- &�#:��## 2�(�������(! ����� !"#���(! �#���-( ��9��&
% �+��3�
O�4��#� =��$ �(&(�# ��#�� � � (�#-����#�� ����&��#! =���,## # ��� �9�-����# ����� !"#/
����$ �(��������$ �#���-
 ��9��&
% �+�� # ����� # � )��(���#�. ������ ������4��#� # �#�/
 ���
� ��(���#! ���( .�
% #�&������ �%�&!'#% � &�)%���(�(�� .�
$ ���$ #�, 2	�
3� U�� �
�
!����#! � T � ��,�� ��� �(&(�( ��9��&
% �+�� �� ��&&(9���! ��-�.*�����-) -�&� #���(�#*�
��&����:&��� ����#������#� ���&#�!*'�,� � (����( ��# %(��#�����- &�#:��## ��9��&
% ���/
��&!'#% �+�� �  (7��(�����- =�����#-�����

�  ! 	"�#$��% &�'�(%( &(')�"* +,(��(&("*-*.�$/�0#1 2"�#$��%3

����!�����. P (x,L) ��,�� ��� � )�($�� �
7�(��
$ )�� ��#�(& �:#� 7���������-) � (/
����)� # ����!�����. Q(x,L) ��,�� ��� � )�($�� �
7�(��
$ )�� ��#�(& �:#� �������-)
� (����)� � �)--� &(*� ����!�����. x �7�(�):��#! )� ( � �����&!'�- �����!�## 0
	1<

P (x,L) + Q(x,L) = x. 2
�
3

� ! ������$ �)7#�����$ ��49���# 2&( �� U� ��49���(3 +)��"#* P (x,L) -�:�� �
�(�#�.
����� )� ���)* ����!�����. ������(�#! Y (x,L), �����(! � ���* �����&. �
�(:(���! �����
�(�-�� ��49���# L 0
	1�0

1<

P (x,L) = xY (x,L) =
x

1 + e−a1(L)(x−xcL)
, 2
��3

�&��. a1(L) = a1(2)L/2 � ( xcL ����������)�� )� ��#* Y (xcL, L) = 1/2 # # P (xcL, L) = xcL/2
# �
�(:(���! ����� �(�-�� ��49���# L # ����, ������(�#! xc � ��9�%-����- � )�(� 0
�1<

xcL = xc + B/L, 2
��3

,&� B 5 �����(��(� ( ��(���#! a1(2) & ! U� ��49���# �(�-��( L = 2 � xc # B &(�
 � 0

1�
6 &�),�$ ������
� �(� ��(�(�� �
4�� ����!�����. ������(�#! & ! 7� .4#% ��49����

(L → ∞) �7 #�# ��#�#�����$ ����# xc ���. ���(�(�� .�(! �(�#�#-���. � ��#�#����#-
���(�(�� �- β :

P (x,L → ∞) ∝ |x − xc|β. 2
��3



S ��#�#����#% #�&���(% � ��9�%-����$ ����� !"## � �(&(�(% )� �� # ��9��&
% �+�� >�

�������� �	
	� �
�� �

U��&� :(! �(��-�����#� U� ��49���#� ���&��(�#- Q(x,L → ∞) �(�:� � �#&� ���(�(/
�� .��$ +)��"## �7 #�# ����%�&(�

�� 2
�
3 # 2
��3 ����!�����. Q(xcL, L) = xcL/2 # # � )�9���- 2
��3<

Q(xcL, L) = (xc + B/L)/2. 2
��3

�
 �� )�# # �:#&(�-
$ ���) .�(�5 ����!�����. �7�(�):��#! )� (� ��#�(& �:('�,�
��������	 �
����
	� C )�� #���#�- L �7 #�# ��#�#�����$ ����# )7
�(�� ������"#��( .��
�7�(���$ �� #�#�� L:

Q(x,L) ∝ 1/L, 2
�>3

�(� �(� ������
� � (����
 � #�(*��! � ���&#�!*'#-27��������
-3 � (�����-�

���� �� (�����	��� Q(x, L) ��	����� 	���	��	� ��"���	� !)�*# ����
� xc. +���� ��������	��
��	�'�� Q(x, L) ������������� ����" �������	�� ������� ���������� �������� xc = 0, 3116865.
�# ����
� xc = 0, 3116865 ������	��� Q(x, L) ��	����� �� !)�*# ��� x = 0, 315 ��� ��	��	��
�
��	�	�� L 	� ΔL = 50. �# ����
� xc = 0, 3116865 ������	��� Q(x, L) ��	����� �� !)�*# ���
x = 0, 312 ��� ��	��	�� �
��	�	�� L 	� ΔL = 500. ( ������ �# x = 0, 312 < 0.315. +� ��� ���
�
���	�	�� !)�*# �������	�� L ������� ���	 ��	�� x ��� ,�� �
	����� �������	�� x → xc.

�( �#�� 
( �#&�� ���� ��# +#��#���(���- x �7 #�# xc = 0, 3116865 2����, ������(�#!
U� ��49���#3 ����!�����. Q(x,L) -��!���! �� #��$�� ��, (��� 2
�>3� �(��#-�� �#�� 
(� & !
x = 0, 315 ��#  #��$��- #�-����## L �( ΔL = 50. �( �#�� 
7 �(��#�( ������!���! � &�),�-
-(�4�(7�< �(��#-��� & ! x = 0, 312 ��#  #��$��- #�-����## L �( ΔL = 500 ����!�����.
Q(x,L) )-��.4(���! �(�:� �� 2
�>3�

;(�:� �#�� 
( # �#�� 
7 ���(�
�(*�� ��� & ! �
�� ���#! 2
�>3 )�� #���#� L ���7)�� ����-/
 ��#! x → xc.

-��������� 	�� ���� ������ ��,���'��	� ������'��	�� 	���� k(L), �� ��� �
���	�	�� !)�*# 
	�$
��	�� x ����	� �
� 

x = xcL + (2/a1(2)L)ln[(xL/k) − 1] ≈ xc + B/L + (2/a1(2)L)ln(L).

(�����	��� Q(x, L) < Q(xc, L) ≈ 0.25, ��,���� 0 < k(L) < 0.25L � ��� L → ∞, x → xc, ��� ���

L � ln(L) ��� �����		
� x/k !�� ��� ���� ���� x/k ������� Ln, "�� n � a1(2)/2 ≈ 6 ��� ./

�������� ��
���� L2 = 2, � xc < x < 1).
6�, (��� 0
�1 & ! ��49���# �  #��$�
- �(�-���- L ���(��& #�
 ������4��#!

|x − xc|−ν ∝ L # |xcL − xc|−ν ∝ L # # L ∝ |x − xc|−ν # L ∝ |xcL − xc|−ν . 2
�M3

;�,&( 2
�>3 -�:�� �
�(�#�. ����� ��#�#����#$ #�&��� ν �(�

Q(x,L) ∝ |x − xc|ν . 2
�N3
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�������� �	
	� �
�� �

�($&9�- ��!�. -�:&) ���-! +)��"#!-#< Q(x,L), ���&�#- �(�-���- ������
% � (������
S(x,L) # �#� �- ������
% � (������

∑
ns(x,L).

U)��.
∑

ns(x,L) 5 �#� � � (������ �(�-��( s �( )�� ��49���# # # +)��"#! �(����&�/
 ��#! � (������� ��,&( �)--( �� ���- �(�-��(- s &(9�� �#� � ���% )� ��� ��#�(& �:('#%
������
- � (����(- �( �&#� )�� # # ����!�����. Q(x,L) ��,�� ��� � )�($�� �
7�(��
$
)�� ��#�(& �:#� �������-) � (����)<

Q(x,L) =
∑

s

sns(x,L). 2
��3

�����$ -�-��� M2 +)��"## ns(x,L) ���&��(� !�� ���&�#$ �(�-�� � (����( S(x,L) 2���&/
��� �#� � )� �� � �������- � (�����3 0>� M1� ��#%�&!'#$�! �( �&#� )�� ��49���# # �
�(:(���!
�7 #�# ����,( ������(�#! xc ����� ��#�#����#$ #�&��� γ:

M2 = S(x,L) =
∑

s2ns(x,L)∑
sns(x,L)

=
∑

sns(x)∑
ns(x)

∝ |x − xc|−γ , 2
�
	3

( �) ���$ -�-��� M0 +)��"## ns(x,L) ���. ���&��� �#� � � (������ �( )�� # �
�(:(���!
����� ��#�#����#$ #�&��� ν 2# # ����� α # γ) � �&)*'#- �7�(��-� V#� � ���% � (������
� �789�-� )�� #�#�(���! � )�� #���#�- �789�-(� ��=��-)

∑
ns(x,L) ∝ V = Ld # � )�9���- 2
�M3

M0 =
∑

ns(x,L) ∝ |x − xc|−νd, 2
�

3

# #� #-�! � �#&) α = 2 − νd #� 2	�
3<
∑

ns(x,L) ∝ |x − xc|α−2. 2
�
�3

�� 2
�
	3 -�:�� )�#&��.� ��� S(x,L) #
∑

ns(x,L) ��!�(�
 � Q(x,L) �(�<

S(x,L) =
Q(x)∑
ns(x)

, 2
�
�3

�� ���. Q(x,L) �7 #�# ��#�#�����$ ����# �����. -�:�� �
�(�#�. ����� ν # γ 2# # ����� α
# γ) :

Q(x,L) ∝ |x − xc|νd−γ # # Q(x,L) ∝ |x − xc|2−α−γ . 2
�
�3

6�(��#�(! � 2
�N3 �� )�(�- �!��� ������4��#� � 2	�
3<

νd − γ = ν # # 2 − α − ν = γ. 2
�
�3

�
4� -
 #��� .���( # �
�(:��#! 2
��3� 2
��3 # &�� & ! U� ��49���#� �� ���. � ��9�%-����-
� )�(� � �(&(�� )� ��� ��,&( & ! �(�-������# ������(����( d = 3 #� 2	�
3 # 2
�
�3 �� )�(�-
2�#:�#� #�&���
 7)&)� ,����#�. � �(�-������# ������(����( d = 3)

ν3 = 2β3, 2
�
>3

α3 = 2 − 6β3, 2
�
M3

γ3 = 4β3, 2
�
N3

δ3 = 5, 2
�
�3

η3 = 0. 2
��	3

R�# ������4��#! & ! ��#�#����#% #�&����� �� )���
 #� ��	���������
����� ����
���� �(
������ ��!�# Q(x,L) � ����!�����.* ������(�#! P (x,L) � ��#7 #:��##  #��$��$ ��!�# 2
��3
# �����. ���7)���! ��(�#� �� .�� �&��,� #�&���(5 β3 �

;(�#- �7�(��- 2	�
3 # 2
�
�3 ���&��(� !*�� �(� ��-����� �� ���&��##� ����
��� ��
���� ���


����� �����
$ ����� # ����&� #�. �#� ���
� ��(���#! ���(�(�� �$ &�)% #�&����� δ3 # η3.
�(� ��(�(�� �
4� ��(�#� δ # η �'9� �� ����� !�� ����&� #�. �%�&!'#� � 2	�
3 &�),#� #�/
&���
� � ! �� )���#! �#� ���
% ��(���#$ ���( .�
% ���(�(�� �$ ����$&9�- � �(��-�����#*
����
���� �	
����� ��
���� 2# # �	
������
����3�
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% �+�� M


�������� �	
	� �
�� �

� 4! 	"�#$��% �5$��(%( &(')�"* +�5$/62"�#$��%3

��� ����� 	
���
�� �����������

�(� �#&�� #� 2
�
>3� 2
�
M3 # 2
�
N3 & ! �) ./���$ #�,( &���(����� ����&� #�. ���(�(�� .
β3. � ! �,� �"���# ��#-��#- +��-) ) 2
��3� � ������$ ��(���#! xc # x = xcL &� :�

������������(�. ��9�%-����$ ��49����� ���� .�)! #������
� #� 0
�1 ��(���#! xcL # xc & !
( -(���$ ��49���# # ��49���# "����#���(���,� ����(=&�( 2= �-���(��(! ��49���( ( -(�( 0
�13�
( �(�:� P (xcL, L) = xcL/2 � �� )�#-<

β3 =
ln(xcL1/xcL2)

ln((xcL1 − xc)/(xcL2 − xc))
= 0.3674, 2��
3

,&� xc = 0.430308 5 ����, ������(�#! ( -(���$ ��49���#� ( xcL1 = 0, 72(6) # xcL2 = 0, 640572
����������)*� = �-���(��
- ��49���(- "����#���(���,� ����(=&�( # ( -(�(�

S"���( β3 �� 2��
3 �(%�&#��! � ������%�&��- ��, (�## & ! �W -�&� # K�$���7��,( 2�-� 0
�1�
� �(7 #"� � & ! � (�����
% ( ,��#�-�� �����/�(� � ���&��(� ��� &�( ��(���#!< β3 =
0, 3639(35) # β3 = 0, 362(4); & ! ( ,��#�-( ������� #�( β3 = 0, 364(7); # &�( ��(���#! ���/
�## �� ! β3 = 0, 368(4) # β3 = 0, 366). U�&��(����( β3 #� 2��
3 � 2
�
>3� 2
�
M3 # 2
�
N3 &(9��
� �&)*'#� ��(���#! ��#�#����#% #�&�����<

α3 = −0, 2044; γ3 = 1, 4696; ν3 = 0, 7348; 2���3

�&��. )�(�(�( %(�(�����(! & ! �(7 #" � 0
�1 �������. ��(���#$ #�&������

X� .4�$ #�&��� δ3 = 5 # -( 
� #�&���
 η3 = 0 # α3 �� 2���3 �(�:� ��, (�)*��! � ���) ./
�(�(-# �W -�&� # K�$���7��,( � 0
�1� S��#"(�� .��� ��(���#� α3 2��&����:&(���! # � =����/
�#-���(% � 0
>1 �(7 #"( �3 � -�&� # K�$���7��,( 2�-� 0
�1 α3 � �(7 #"� � �� α3 = −0, 21 &�
α3 = −0, 17) �(� # � 2���3 	��
����� 
����������� ���
��������� � �
��������� ������

O��) .�(�
 �� 2��
3 # �� 2���3� &(*'#� �����(���� ��, (���(�#� � -���&(-# �����/�(� �
-�&� # K�$���7��,(� ��� :� !� !*��! �"�����
-#� �(� �(� ��# �� )���
 �( ������ xcL ( /
-(���$ ��49���� -#�#-( .�
% �(�-���� ���
� �� ��#�#�����$ ����# xc 0
�1� ��,&( �(� 2
��3
���7)�� 7� .4#% (L → ∞) �(�-���� ��49���#�

��&��� β3 ��!�(� � ν3 # γ3 ������4��#�- νd = 2β + γ #� 2	�
3 # =�) ��!�. -
 #��� ./
���( # & ! �� )���#! 2
�
>3L2
��	3� ��=��-) 7)&�- #��(�. ��!�. β3 C α3 ��
��� ��#�#�����$
����# xc. � ! =��,� �
!��#- �-
� ���!�#! ���
���� ��#�#�����$ ����# 2# # ����# 7 #���$
� ��#�#�����$ �����3�

� ! U� ��49���# ��, (��� 2
��3 xcL → xc, ��# L → ∞. ��),#-# � ��(-#� & ! 7� .4#%�
�� ������
% ��49���� � ��������$ �(�#�#-���#

W (x) ∝ |x − xc|I 2���3

-�:�� ��#�(�. x = xcL �(�:� �(� � 0
�1� � 2���3 I 5 =�� ��#�#����#$ #�&���� ( W 5 �����/
 !"#����� ���$���� �#���-
� � 0

1 4#�#�( ����� !"#����,� ����%�&( Δx %(�(����#�)���!
�(�

Δx = 4/a1(L), 2���3

,&� a1(L) ∝ L, �� ���. ��# L → ∞ 4#�#�( ����%�&( -( (� ��=��-) ��)��# #�����( ( Δx
 *7�� x ≈ xcL C 7� .4�$ �������.*�

S&�(�� =��$ �������# -�:�� �� %�(�#�.� �� # �(� #������)*� ��� ����#! �� ��#�#����#%
�� #�#� ���!&�( 10−4 0
M1� U�=��-)� �� �(�)4(! �7'����# ��#�(�#! d /-���
% ����� !"#��/
�
% �#���-� ���7%�&#-� �����# �'9� �&�) ����) x & ! ������
% �#���-� �����(! 7
 ( 7
 7 #:�
� ��#�#�����$� ��- xcL. � ! =��,� 7)&�- #��� .���(�. �����$ #�,��)* +)��"#* )� ����$ ��/
��!�����# ��,�� ��� �
7�(��
$ � ����!�����.* x )�� ��#�(& �:#� ���&#�!*'�-) � (����)
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�������� �	
	� �
�� �

#� 0
	� 

� 
�1 � -( �$ �7 (��# Δx, �� ���. & ! 7� .4#% L <

Y (x,L) =
1

1 + e−S(x,L)
, S(x,L) =

n∑

i=1

ai(xi − xi
cL), 2���3

,&� L 5 %(�(�����
$ �(�-�� ����� !"#����$ �#���-
 #� N )� ��< L = (N)1/d.

���� �� .�� x = xY L ����� �
���	�� �� ����	���� Y (xY L, L) = xY L, ��� ������� ����� 
���	� ./
�������� ��
���� L = 2.

U�# x ≈ xcL, �)--) S(x,L) -�:�� ���&��(�#�. �&�#- � (,(�-
-<

S(x,L) =
∑

an(xn − xn
cL) = (x − xcL)(a1 + a22xcL + . . . + aN−1(N − 1)xN−2

cL ) = AL(x − xcL),
2��>3

�� ���. & ! ��,�� ���7
 �(&(�. +)��"#* Y (x,L) ���( &���(����� &�)% �(�(-����� AL # xcL

Y (x,L) =
1

1 + e−AL(x−xcL)
, 2��M3

����#&��� & ! U� ��49���#

AL = a1(L). 2��N3

U��(:�-� ��� AL # xcL ��!�(�
 -�:&) ��7�$� � ! =��,� ���&9�- �'9� �&#� �(�(-��� xY L,
�(��$� ��� � 2��M3 ��# x = xY L 7)&�� �
�� �!�.�! �(������� Y (xY L, L) = xY L 2& ! �(, !&/
����# �-� �#�� � & ! L = 2) :

Y (xY L, L) =
1

1 + e−AL(xY L−xcL)
= xY L, 2���3

���)&( xY L -�:�� 7
�. �($&��� ��4��#�- �� #��$��,� )�(����#!� �(��#-��� & ! U� ��49���#
(AL = a1(L) = a1(2)L/2) :

xY L = xcL − (2/a1(2)L)ln(
1

xY L
− 1), 2��
	3
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�������� �	
	� �
�� �

#� ������,� ��# �
�� ���## 2
��3 � �&)��� ��� ����( xY L & ! ������
% U� ��49���� 7 #:�
� ��#�#�����$ ����� xc � ��- xcL. O�4��#�- )�(����#! 2��
	3 & ! L = 2 U� ��49���# �($&���
xY 2 = 0, 345995, ( & ! L � 2 ���) .�(�
 ��4��#! ���&��(� ��
 ,�(+#����# 2�#�� �3� ���)&(
�#&��� ��� xY L < xcL # ��# L → ∞, xY L → xc. � &( .��$4�- �(- �(:�( (�#-����#�(
+)��"## )� ����$ ����!�����# Y (x,L) �� 2���3� ( ��(�#� # ����!�����# ������(�#! P (x,L) �
��# ���&9����$ ����� xY L :

Y (xY L → xc, L → ∞) = xc # P (xY L → xc, L → ∞) = xY (x,L) = x2
c . 2��

3

���� �� ��
�� ���
 ����	�� ����	�	�� !0�)1# ��� L � 2 ����������	
 "���������� +���� xcL

��������	
 ����� ���� 2���	�"� ,��������	��� �
����		�"� � 3))4� "�� ������������ AL = a1(L), ��
�����
� � �
������	
 ,��������	��� 	
� ����� xY L ����� ����	�� ����	�	�� !0�5#�

;�� �9�-����. �#���-
 �
�(:(���! ����� #�&��� α �(� CV ∝ |T − Tc|−α # #� #�%�&! #�
(�( �,## ���"����("## #������)*'�$ �(� +(�
 x # ��-���(�)�
 T, ( �(�:� ,#�����
 )�#/
����( .����#

CV ∝ |x − xc|−α. 2��
�3

�
�(�#- =���,#* E(x) ����� !"#����$ �#���-
 ����� ���"����("#* x #������)*'�$
�(� +(�
 � "� .* �(%�:&��#! ��� �9�-����#� ( �(��- # ��!�# β3 C α3. �(- &���(����� �($/
�# (�#-����#������ ����&��#� E(x) # CV (x). � ! =��,� �(��-���#- �(&(�) ��9��&
% �+���
�(%�&!'#%�! � %(��#�����- &�#:��##�

��� ������� � ������������� ��
��
����� �������������� ������� �
����� 

�!��

U)��. � !'#�� 2�#�� �(3 �(%�&#��! N �����&!'#% 4(�#��� 2� &( .��$4�-5 �+��3 � �� � �!/
:���# Y�- # 2 g �(��(� ���� ��#� �( �#�� � �� ���(�(��3� 6+��
 �&#�(����$ -(��
 m # �&#/
�(����,� �789�-( V1 -�,)� -��!�. ���* ���+#,)�("#* �� ���-��# ��& &�$���#�-� �(��#-���
-�'��,� ) .��(��)�( 2�#�� �73� ;(�#- �7�(��-� -�:�� �� )�(�. � )�($��� �(����&� ��#� �+��
�� ���-��# # � ������(������ �� ���. � �789�-� !'#�( V0 � &� �$ #% �789�-( x :

x = NV1/V0 # # x ∝ N, 2��
�3

,&� V0 = SH � S 5 �����#� # H 5 �
���( !'#�(�
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�������� �	
	� �
�� �

���� �� N ���������� ������� !������
� ����# � ����� �
����� H = h + Δh. �# .��������� ��

�	��	�"� ��
�������� N ���������� ������� � ���� ������� 6���� ! g 	�������		� �	�
� 	�
����
�	�#� �# ��
	��	���	�� �����	�2��"� �������� !����� ��� � � ��������	
� 
������# ���

��������� ���	�"� �� ���
����� .� ����2����� ���" ���"� ������ !�� '�	��
 ���
	���	
 �������#
����� ,���������� 7 � 8!��� ������ 	� 	�� 	������	��# ������� ,������������ ����

�� 2�#�� �73 �#&��� ��� � �#���-�� ���&��(� ����$ �(��#"(-# �&��,� ����( -�:�� �7�(�)/
:#�. 2�(�:� �(� # � ��49�����
% �(&(�(%3 ���&#�!*'#$ � (���� � -9����
-# ���"(-# # �����/
�
� � (����
� ��=��-) -
 � �(:&
$ -�-��� ���-��# #-��- &� � � #�������$ �(&(��$ ��9��&
%
�+�� � ����� !"##� ����#������#� ���&#�!*'�,� � (����( �� �(�(*'#-�! &�), &�),( �+��(-
-�:&) = �����&(-# Z # [ 2�#�� �73 ��# #% � )�($��- �(��� �:��## � ������(����� (�( �,#���
��!� ��#* ���&#�!*'�,� � (����( � ��49�����
% �(&(�(%� �(��#-��� � �(&(�� )� �� & ! U�
��49���#� S� #�#� �� ��49������$ �(&(�# �����#� � ��-� ��� ����&#�(�
 "������ �+�� !� !/
*��! � )�($�
-# �#� (-# # �7
��� #��� .�)�-
$ -���& �����/�(� � ��( �#�(���! � �!&�-
��)&�����$� K (��(! #� �#% �����#� � ����. �(���- ������
�## ����!������$� �����(*'#%
� )�($�
- ���+#,)�("#!-� U�����
�#� ���(�(��� ��� "����
 &�)% �+�� ��(�
�(*��! �( �(�/
���!�## -��.4�- #% &#(-���(� V�- 7� .4� ���"����("#! x, ��- -���� ����!���� ��� ���+#/
,)�("#! ��( #���(�( � )�($�
- �
7���- ����&#�(�� U�# x 7 #���$ � ��#�#�����$ �� #�#���
):� ��� ���-�:����# ��-���#�. �'9� �&�) �(��#") � �#���-)� ����� .�)  *7�� �(�-�'��#�
���#"(���! 0
�1� �#&#-�� �� =��$ ��#�#�� �  #���(�)�� ��� 2�(-# �� �7�(�):��
3 �(7��2
3 ��
��������
��� �����
������� 2-�&� #���(�#*3 �(&(�# ��9��&
% �+�� � ����� !"##�

� ��!�# � =�#- ����#�(�� ������< -�:��  # �7�(�):#�. ���&#�!*'#$ � (���� ��# x 7 #�/
��$ � ��#�#�����$ �� #�#�� � �(&(�� ��9��&
% �+�� # �� # &(� �� �(���( 4#�#�( ����%�&(
& ! N �+��\ S7�(�#-�! � �(�)���-) 2 (7��(�����-)3 =�����#-���)�

��" #����������� $����������

� ! ��,� ���7
 ��&����&#�. ��!� ��#� ���&#�!*'�,� � (����( � �(&(�� ��9��&
% �+��� �(/
-# 7
 �����&9�� � �&)*'#$  (7��(����
$ =�����#-���� U�#�"#�#( .�(! �%�-( )��(����#
��#��&��( �( �#�� �� �(& �����%����.* ) .��(��)����,� #� )�(�� ! 
 2�����
$ #� )�(�� ) ./
��(��)���
� �� �7(�#! �( ��9�� �.������(-#����#% ����7�(���(�� �$ � ��# ��&(�� �( �#% ����/
������)*'�,� �(��!:��#! �� ,����(���( >3 )��(�(� #�(���! "# #�&�#����#$ �� ��������
$
����)� � #� ��,(�#�����,� ���� (� � �� ���. ����)�( ��-�'(*��! ��( .�
� 4(�#�# � 2��9��&
�
�+��
3 &#(-����- d = 2.25--. 6���%) �� ��)������$ ���.7� 2]�	× 
��3 ����)�( +#��#�)��/
�! �
���( H = �����&( �� � .��(��)����$ #� )�(�� . ��#��&#� � &�#:��#� 4(�#�#� �&�( #�
� )�($�
% ���+#,)�("#$ �����
% �7�(�)�� ���&#�!*'#$ � (���� 2��-����
 ����(-# "����

�+��3� ;�,&( ����#�(�� = ����#����#$ ��� � �(-��)��- ����)�� =� &� �� E 2#�����#� �����!�/
��,� ���(35 ���&#�!*'#$ � (����5 = �����& �5 &� #�� . �(��!:��#! R1, R2 5 =� &� �� E.
V(����( ���( f ��#-(���! �(�����-���- 
 � ���#����( R2, ���&#�9����,� C = �����&�- ��
U�# =��- ������ #�)���! �(����( ) .��(��)�( f0 ��# ��-�'# &� #�� ! �(��!:��#! R3, R4.
�(��!:��#!� ��&(�(�-
� �( �%�& �(�����-����� ������������( # ���7)�-�-) �%�&��-) �(��!/
:��#* �(�����-��( ≈ 
�. � .��(��)����$ #� )�(�� . 7
 �(������ �( �(����) f0 ≈ 20 �K".
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��� �����	�2��� ������� !������	
 ������� '�	��
 ����#� )9 �� ���
�������

�
������� : 09 � �
������������� �������
������ : ;9 '���	��������� ���������		
� ������ �

��"�	������"� ������: <9 ���� 	
� ������: =9 ,�������: *9 "�	������� (
���� ,�������� !	� ���� =

	� ����
�	�# ������������ ��� H = h + Δh !��� ���� <#�

� =�����#-���(% & ! &(���,� �#� ( 4(�#��� ��# )-��.4��## ������(�( .��,� �(���( Δh
2=�� ���(�(�� )�� #���#� x � �(� �(� H = h + δh, ( x = NV1/SH, �&��. � �'(&. S = πD2/4
�
�#� ! (�. �� ��)������-) &#(-���) ���.7
 D = 28, 5--) �(����( f -��! (�. �� �) ! &�
f0,5 = f0/2. U�# �(����� f0,5 #�-��! # �
���) H0,5, �� ���. x0,5. U�� � &���#:��#! �(����

f0,5 2����� ���-! < 
 ���)�&
 �(����( f0,5 ��(���# (�. ��(��#����# ��(7# .��$ � -( 
-#
+ )��)("#!-#� ����� !*'#-# ����&� #�. ���&��� ��(���#�3 ) .��(��)� ��� *�( #� ��# =��-
��� � �(-��)��- ����)�� #����( � �( .��$4�� )-��.4��#� �(���( ���#�%�&# � &� ��!� ��#!
�����!���,� ���( � ����)�� 2�( �#�� � -#  #(-���-��� �� ���(�(�3� ��# =��- #�-��! # �
��/
�) H1, ������$ ������������( ( &� ! x1. �( #�#� �����!���,� ���( � ����)�� ,����# � � ��-�
��� )� ���(! ����!�����. ������(�#! Y (x1, L) = 1 ��# &� � x1.

V#� � 4(�#��� N � =�����#-���(% -��! ��. �� �		 &� M		 2��#-��! #�. # 4(�#�# &#(/
-���( ���> --� #% �#� � -��! ��. �� �	 &� M	� �� � =��- � )�(� + )��)("## �(����
 f0,5,
�(� # � �&��( � �:#&(�.� 7
 # 7� .4�3� ��� ,��-���#����#� �(�-��
 #�-��! #�. ��# ��-�'#
-#���-���( � �������.* 	�	
 --�
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�
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�

� ���� !� �������� � ������ ����
��� �%�
&

� =�����#-���(% 7
 � �7�(�):���� ��� ����� !"#���
$ ����%�& ���#�%�&#� � )���- #����/
�( � Δx = 2(x1−x0,5) < 0, 01, � (7� �(�#�!'#$ �� �#� ( 4(�#��� N. �� #�#�( x1 ����-#��!
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2��# L → ∞) � ��(���#* 	�>�	� ������� ��(��#����# ����(&(�� 2	�>�M � 0
1 # 	�>�	� � 0
�13
�� ��(���#�- ��=++#"#���( )� (&�# & ! � )�($��,� �(����&� ��#! ��9��&
% 4(���� �7�&#�/
4#�. �( ��(��#�� � ���-�:����# ��!� ��#! ���&#�!*'�,� � (����( � �(&(�� ��9��&
% �+���
����9�-�! � =���,## # ��� �9�-����#�

X)&�- ��#�(�.� ���  *7(! � )�($�(! ���+#,)�("#! 2�( ��9�� ) .��(��)�(� ��#�9�- &#��#�(/
"#�$ =���,## ) .��(��)�( �����7��,(�-3 7� .4�,� �� #�����( N �+�� � �(&(���- �789�-� V0

����������)�� �(��������-) �����!�#* &�)%+(���$ �#���-
� & ! ������$ �����&!')* +(�)
�7�(�)*� �+��
� ( �������&!'(! +(�( ����������)�� �)���-) ������(����) ��� �+��� ;�,&(
x �� 2��
�3 ���. ���"����("#! #������)*'�$ �(� +(�
�

U����7��,(! �����"#( .��$ =���,#�$ ��(#-�&�$���#! -�:&) �+��(-#� -
 �(��-(��#�(�-
#&�( .�)* �#���-) ����(#-�&�$���)*'#% �+��� %(��#�����-) &�#:��#* �����
% ����������)/
�� ��-���(�)�( Θ. �� # ) .��(��)� �
� *���� �� &�#:��#� �+�� �����('(���! # Θ = 0. R��
���(�(��� ��� ����� !"#���
� =++���
 2�7�(���(�#� ���&#�!*'�,� � (����(� ������
% � (/
������ # ����3 � �#���-� #� ��9��&
% �+�� 2� �� � g) � �(&(���- �789�-� V0 -�:�� �(7 *&(�.
�� .�� � &#�(-#���

U)��. ,(-# .���#(� �#���-
 ���&��(� �� �9� =���,#�$ E(x) :

E(x) =
∑

i

(mgzi + mv2
i /2), 2��
�3

,&� mgzi 5 �����"#( .�(! =���,#! "����( i /�$ �+��
� ���-#���(��(! �( �) . �����#�� .��
)����! z = H/2, ( v2

i = vi · vi 5 ��(&�(� ������( �������# vi � 6�#�(!� ��� �(��������-)
�(����&� ��#* N �+�� � �789�-� !'#�( ����������)�� �(���-����� �(����&� ��#�� �� )�#-∑

mgzi = 0, �(� �(� �&#�(���
� �� �� #�#��� �� �(��
� �� ��(�) zi 7)&)� ������(�.�! �&#/
�(���� �(���� U�=��-) =���,#! �#���-
 � 2��
�3 ���. �)--( �#���#����#% =���,#$ N ����(#/
-�&�$���)*'#% �+�� # # �)--( ���&�#% ��(���#$ �#���#�����$ =���,## ε, ��#%�&!'�$�! �(
�+��)<

E(x) =
∑

εi = Nε. 2��
�3

� &#�(-#�����- �(������## N ����&
% �+�� �&�) #� �+�� -�:�� ��#�(�. �(%�&!'�$/
�! � ����(��� � ��� ��
- ������)(��-� �7�(���(���- ���( .�
-# N − 1 �+��(-#� ;(� �(�
���-�:��� ��(���#� =���,## �&��$ �+��
 εr = mv2

r/2, ,&� vr 5 ���-�:��� ��(���#� -�&) !
�������# �+��
� �� ����!�����. Pr �7�(�):��#! �+��
 � �����!�## r C =���,#�$ εr ���/
���"#��( .�( -��:#�� * X� ."-(�(< Pr ∝ e−βΘεr # ��(��)--( Z #-��� %���4� ��(��-
$
�#&<

Z =
∑

r

e−βΘεr =
∑

r

e−βΘmv2
r/2, 2��
>3

,&� �(�(-��� βΘ ∝ 1/Θ, ( �)--#���(�#� #&9�� �� ���- ���-�:�
- �����!�#!- r, �� ���.
�� ���- ���-�:�
- ��(���#!- =���,## 2�������#3 �+��
� 6�#�(!� ��� ���-�:�
% ��(���#$
�������#�  �:('�$ � -( �- #�����( � �� vr &� vr + dvr, 7��������� �)--#���(�#� � 2��
>3
-�:�� �(-��#�. #���,�#���(�#�-� ��� � ������,� �� )�(�-

Z ∝ (βΘ)−1/2 2��
M3

# ���&��� ��(���#� =���,## �&��$ �+��
<

ε =
−∂ln(Z)

∂βΘ
∝ Θ. 2��
N3

�� 2��
>3 x ∝ N # # N ∝ x, ��,&( #� 2��
�3 =���,#! ����� !"#����$ �#���-
 ��9��&
% �+��
7)&��

E(x) ∝ Θx, 2��
�3
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( ��� �9�-����.� �� ����&� ��#* �(��(! CV = dE(x)
dΘ , �����. � )�9���- 2��
�3 �
�(:(���! &��!��

�(�

CV ∝ x # �(� CV ∝ |x − xc|−α. 2���	3

;����.  �,�� �� )�#�. ��!�. β3 C α3. �
�#4�- ����!�����. ������(�#! �7 #�# ��#�#��/
���$ ����# #� 2��

3 # #� 2
��3<

P (xY L → xc, L → ∞) = x2
c # P (x → xc, L → ∞) ∝ |x − xc|β . 2���
3

6�(��#�(! 2���	3 ��# x → xc # 2���
3� �� )�(�- #���-)* ��!�. # # #���-
$ ���$ #�,
�	
����� ���!&�(� #-�! � �#&) 2��
>3 L2��
N3<

β3 = −2α3; ν3 = 2β3; α3 = 2 − 6β3; γ3 = 4β3 2����3

# �#� ���
� ��(���#!

α3 = −2/11 = −0, (18); β3 = 4/11 = 0, (36); ν3 = 8/11 = 0, (72); γ3 = 16/11 = 1, (45). 2����3

� �(���4��#�� �(�#4�- ��!�. &#�(-#�����,� ��#�#�����,� #�&���( )&� .��$ = ��������/
��&����# � )�($��$ ����# ������#� ��#$ t 2���&#��! �(� σ(x) ∝ (x − xx)t) � &�)-! ��(�#��/
��#-# #�&���(-# β # ν #� � �&���#! ,#�����
 � ���(�&��(/S�7(%( 0�1<

t =
(3d − 4)ν − β

2
, 2����3

,&� d 5 �(�-������. ������(����(� U�# d = 3 ��&��(�#- ν3 # β3 #� 2����3 # �� )�#-

t3 = 18/11 = 1, (63), 2����3

��� ����(&(�� � =�����#-���(-# 0�	� �
1 # ��, (�)���! � ���) .�(�(-# -��,#% �(7�� 2�-� 0M�
�(7 #"( ���13�

� 7! �8259����� '�-5$/.*.(�

U� )����
� �#� ���
� ��(���#! ��#�#����#% #�&����� �� 2����3 �'9� 7 #:�� ��- �� 2��
3
# 2���3� � -�&� # K�$���7��,( ��# #�� �&��(�## ��-���(�)��
% +(���
% ����%�&�� -���&(-#
�����/�(� �� S��7���� =�� �����#��! � #�&���) β3: ��(����#� �� ��(���#�- β3 = 0, 3639(35)
& ! � (�����
% ( ,��#�-�� �����/�(� � � 0
�1 # �� )������ �(-# β3 = 0, (36) &(�� �� #/
�#� �( 	�	N^� �'9� �(� �
&� #- ��, (���(�#� ���#"(�� .��,� ��(���#! α3 �	
������
����

� ���) .�(�(-# -�&� # K�$���7��,( # =�����#-���( .�
% �(7���
Y�(���#! ��#�#����#% #�&����� ν3 # β3 �� 2����3 ��&����:&(*� � �&���#� #� ,#�����


� ���(�&��(/S�7(%(� &(*'�� ��!�. &#�(-#�����,� #�&���( �� ��(�#����#-#�
�� # �(��-�����. &�)-���
$ � )�($� �� & ! 7� .4#% L � ��49�����
% �(&(�(% -�:��

�(�:� �����# Y (xY L, L) = xY L ��, (��� 2���3 # ��#$�# � (�#-����#�(- 2��

3 # 2���
3� �� ���.
�� )�#�. β = −2α # � &�)-����- � )�(�� ;�,&( �� # β2 = 5/36 2�(��#-��� � 0>13� �� &� :��
7
�. α2 = −5/72 = −0, 069(4). S&�(�� ��#�(���!� ��� ν2 = 4/3 5 ����
$ ���) .�(� 0>1 # ��#
d = 2 &� :�� 7
�. α2 = 2 − ν2d = −2/3 = −0, (6). �(� �#&#-� ��, (���(�#� � ���#"(�� .��-
��(�� ��%�(�!���! # � &�)-����- � )�(�� %��! �(��#"( � �#� ���
% ��(���#!% �( ���!&���

� :! �0�(�

6�, (���(�#� #�)����
% ��#�#����#% #�&����� � ��9�%-����- � )�(� � ����� !"## � ��#/
�#����#-# #�&���(-# & ! ��-���(�)��
% +(���
% ����%�&�� ����� !�� ������# #% � ,�$���/
7��,�����-) � (��) )�#����( .����# ��#�#����#% !� ��#$�

�����
 7 (,�&(��
 ���� �(�.�#�) �( ������)��#���� �7�):&��#� # ��#�#����#� �(-��(/
�#! ��# ��&,������ &(���$ �(7��
� ( �(�:� ,����( .��-) &#������) Y�S �US P��)��-(4Q
_��� 6�& ��) �( ���&���(� ���)* ) .��(��)���)* ��%�#�)�
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fad[[$U_b[Ve_WVT] ]T\\_`[ jW_V\e jdW}][be ~Wd e_bj][ `r}_` ]T\\_`[ TVU eW]_U eja[d[e _V `aTW\_` bW\_WV Td[
`WVe_U[d[U� 7UU_\_WVT] !\W \�W$[ijWV[V\_T] e`T]_Vq# d[]T\_WVe }[\�[[V _VU_`[e Td[ _VU_`T\[U% 2−α−γ = ν !Wd
νd − γ = ν # TVU β = −2α. crb[d_`T] lT]r[e W~ \ad[[$U_b[Ve_WVT] `d_\_`T] _VU_`[e Td[ U[�V[U% α = −2/11,
η = 0, β = 4/11, ν = 8/11, γ = 16/11 TVU δ = 5.
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